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Time: 35 Minutes | Paper Math 6 (T-1) |  Total Marks: 25

| 2nd Month, 4th Week, 6th Day | Sub-domain (i, iv, v) |

Q.1. Choose the correct options. 1x13=13) - /.fl?"'lg,«lﬁw/;
(i) According to the BODMAS rule, first basic operation is performed:

e Sl bl e o tuIGLBODMAS
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(a)| addition & (b) [ subtraction d" (c) multiplication_g/" (d) [division (Tfﬂ

S

(ii) 12 out of 15 can be written in percentage as: 2%&‘(}12( 15

(a) 70% (b) 80% (© 85% (d) 90%

(iii) A set containing only one element is called: :‘gm&uﬁg._s/ﬁﬁqul

(a) | even set SIS (b) [ singleton set &{dj’u{
(¢) | positive set Lred | (d) | odd set LBl b

e b |

(iv) [ ] brackets are known as: =l

(a) | viniculum KK (}5 (b) | braces &/.

S

W”Z. (d) | box brackets J‘{/JKL

(c) | perantheses

(v) Which of the following is the symbol of empty set?
?c‘;d/.“{dléulkd u:'/c_.gﬂ(j‘: 3G
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(x) The cardinal numbers of set A = {Pakistan, China, Bangladesh}:

:e;)lﬂJJf/KUfA = {ut”fk‘ug‘ﬁ)f:}

(a) 1 (b) 2 © 3 () 4
(xi) IfP = {2, 3,5, ...} then 5____P, put the correct sign.
L ertoernss  PIP=1{2,3,5..3 )
(a) € (b) € © = ()] *

(xii) What is the tabular form of first five whole numbers?

?‘Lg&f’&m&wu’ L

@) = () < © ¢ d) €
(vi) The symbol of percent is: 29:/1196/#’(.}
(@) - (b) X © + @ %

(vii) 130% of 200 is: 431308200
@) 210 ®| 230 © 250 @| 260

(viii) A decrease of 7% in Rs. 1200 is: :‘ao{!y&ut%ulzoo

(a) [Rs. 70 %)/70 (b) |Rs. 74 %)/74 (c) |Rs. 84 %)/84 (d) |Rs. 90 %)/90

.

(ix) The ratio has no: Zé".nu.‘.i’ Lol

(a) |[symbol <=+l | (b) [value s (¢) [importance=4/] (d) | unit <y

.

(a) {1,2,3} ()| {1,2,3,4} |(©] {0,1,2,3,4,5} |(d)] {0, 1,2, 3,4}
(xiii) Which of the following is the set? 94__*{»@;2—_‘;‘}" 3 1ON)
@] {1,2,3,4 |®M]| {xv.x2z} |@©| {2,3,3,4} [@]Al rl/"
Q.2. Answer the following questions: (4x2=8) - ;gzai;uu«d 31O0%)

4 7 9
: impify: 33— +4—-5=
(i) Simpify: 99 33 11

£
(ii) Rehan drove his car at an average rate of 80 km/h. How far did he drive
in 5 hours?
Sfa/&.lﬂG(':fuu:u;z‘fS-c"_E‘Ug:_/G‘/J}fft.}ff}SOL/JU/‘{@luK/
(iii) Write all subsets of A = {1, 2, 8}.
-Mq&?L?LA ={1,2,8
(iv) A car travels a distance of 749 km in 7 hours. What was the speed of

car?
(Pt b 3/ b 149t 5 15
(1x4=4) g

Q.3. Simplify:

S 2, 7_2
12 |24 \3 8 3



